English Learning Intention - To use modern day language.

Rewrite the two verses below changing the archaic language into modern day language. The archaic language is in bold for you. The first line has been done for you. You can change other words in the line to make it flow better. Try and use the grammatical terms (relative clause and adverbial phrases). 
The wind was a torrent of darkness among the gusty trees,

The moon was a ghostly galleon tossed upon cloudy seas,

The road was a ribbon of moonlight, over the purple moor,

And the highwayman came riding –

Riding – riding – 

The highwayman came riding, up to the old inn-door.

                     He'd a French cocked-hat on his forehead, a bunch of lace at his chin,

A coat of the claret velvet, and breeches of brown doe-skin;

They fitted with never a wrinkle: his boots were up to the thigh!

And he rode with a jewelled twinkle,
His pistol butts a-twinkle,

His rapier hilt a-twinkle, under the jewelled sky.
It was a dark and windy night, where the trees were swaying viciously. 





He had a French point hat on his forehead, which tied under his chin.








